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V Semester B.Com. Examination, April/May 2023
(cBcS) (F+R)

COMMERCE

Paper - 5.4 : Costing Methods

Time:3 Hours Max. Marks:70

lnstructlons : Answer should be written completely either in Englieh or

in Kannada.

SECTION - A
aqDd - o

1, Answer any llve sub-questions from the following each correct answer carries

two marks, (5x2=10)

o3n{,1oaddo ad: wd-{,dnd9rl erudoBJ. d,E E,E4rl oddr ecodds;b.

a) What is operating costing ?

ooJ:rdaf,d sdrd$ oeB.

b) What is meant by retention money ?

qndea dea ooddeab t
c) Name any two cost units in transport cosling.

EDoil dqdo_olrada?ddra odd: dz{d +Bdrtddl udos:o.

d) What is abnormal gain ?

ermdnd, enql ooddeab ?

e) State any 4 industries, where process costlng is appllcable.

€, g o$ dat 0 e6 F o3l dq.g o$ $4 eqrdarr &d oin{ m ddn m ejg EosD rdrld$4
dBorr.

slD P.Y.O.
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f) What do you mean by escalation clause in contract ?

udodrl9O_dal9d ddd? aodde$ ?

g) Mention any four features of job costing.

aA doi dalOearoJ:d atreDr edsaddd1 Ce,tu.

SECTION _ B

-\^-i ^o\*)q)ot I - 9)

Answer any three of the following. Each question carries six marks. (3x6=18)

ohQoaddo $Jodr {,qd9d @{otJ. d0 Ed..d u$ €odrl$b,

2. Calculate economic batch quantity and number of batches from the following :

2-

Annual consumption

Set-up cost per batch

Cost of manufacture

Rate of interest

Carrying cost

dgnddrlgod erQFd aDd?,tr

arD&rE ?,Jead

AqdaBrd dqrs
wadoa dal

uaodd (dedm)

FDrld d?*

- 125000 units

- t125

- t 25 p.u.

12o/o

60 paisa per unit, per annum.

dodDsaddtr d)Q mrartfe noalrol:d1 dod)&BoDo.

125000 obD[trrl$r

dra.125

dD.25 d,.9 cor0t ri

12Yo

60 dn E,l oJD0t d (P.A.)
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3. Explain any 3 methods of costing.

dal Dearod:o{d oln$oaddo d:rad: apdrlgd} edorr.

4. ln processing a basic raw material, three joint products X, Y and Z are

produced.

The joint expenses of manufacturing are :

Material t 5,000

Labour < 4,000

Overheads < 4,500

13,500

Subsequent expenses are as follows :

Particulars X Y Z

({) (r) (r)

Materials 1,000 800 900

Labour 1,250 7OO 850

Overhead 1,250 500 750

3,500 2,(xro 2,500

Sales value 21,000 10,000 9'000

Estimated profit on sales 50o/" SOY" 33.330/"

Show how you would apportion the joint costs of manufacture by reverse cost

method.
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t^, o d) eruE.rduJ ioi o3: O-d:oe.r raa: !, ol:Q d I og)$m rl drtdd': id daad r rlsad

aq, d dJdl dpd erud,3obncb$d. edd 60r,3 odFd add.

FDilDrl$ do.5,000

9d)
dreer:ddo

s$Do$ drb0d dq

oddrlqt

rod:!,rl*1>

9d)

&ewda[

dJa.4,000

dra. 4,500

13,500

(dJa.)

1,000

1,250

1,250

3,500

21,000

l)

(aa.)

800

700

500

2,000

10,000

dPdf

(aa.)

900

850

750

2,500

9,000

ad

dnvoud deJ

d)D@r^3d rjdo$ d:eod

elodoa) erJqJ 50Vo 50Yo 33.33%

.g$nrJ Ddobd Oa$r eeadddl (,$darr d)rad) ddJf,rrlg ziot: so?JFd aqJReddsa

d)Dd)d r.od: dt :p$d:n dodDoA.

5. Varsha transport company is running 3 buses between two cities which are

80 kms apart. The seating capacity ol each bus is 50 passengers. The actual

passsngers carried were707" of the capacity. Each bus makes one round trip

per day, All the buses run on all the days of the month of September.

Find - what is the kms of total passengers in the month of September.
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6. The following particulars relate to a certain contract carried out during the

year ended 31-3-2022.

Particulars in (<)

Work certified 42,900

Materials sent to site 19,350

Cash received from contractee 39,000

Labour 16,980

Contract price 60,000

Materials returned to stores 12O

Materials on hand at the end 420

Direct expenditure 780

Establishment charges 975

Cost of work not yet certified 1,020

Plant installed at sits 3,390

Value of tho plant at the end 2,460

Prepare contract account for the year ended 31-3-2022.

daar ioi drod: u$.,rl9abnad& drldrl9 dd:d t"alD.gd. oddr drldrlC dd>ad

sodd 80 E.tue. 50 d)oo 4)o!Es6dod cdlD8e$d €r uB:rlql ot3dJd erdroEd

de. 70 dds* {, oln ddddl r.otu, { d.

{,e D$"{,.4 pdd addJ ddddq dd:d r.od: ir:d: dJDeR eJ$dd, aeiqDlD^dst godg

a(Aodd) t"ad.

idrot^rcr6 d>do$ O_ e. or:., 4, 03> s6dd E. a: e. odod: d odJb a o0: o.
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€r dddod dD&gob) t ocb rb3d de.rid 31/3/2022d a"&rd udQ uodrd.

ioDoQtud.

addrlct)

dr@edotud de.ti

nqdd dSJEo:,d sad:!, rl$t

rb.gd Peaddood ddd dea

9d)
,$.gil de,

wrg eoC, EooCdrnAd roabD dt*)

uodrd{d:d rad)}dtd:

ded D?,$r

;iaodu, $dJr
drQedoid doi

i9dO sadd doedd
Q.,'Q

erodrdO;J xa.dd dei

311312022d daqrrogddd r$gzi sDd dolDoiJ.

SECTION _ C

A?rDrl - n

Answer any thrcc queetions. Each question carries 14 marks, (3x14.42)

o$idcDddJo durEb {,rJl9rl @904. dldr..il dAseDreorlltb.

7. Thanuja Co. undertook a contract lor ? 15,00,000 on an arrangement that 80olo

of the value ol work done as certified by the architects of the contrac'tee, should

be paid immediately and the remaining 20o/o be retained until the contract is

completed.

-6-

(dla.rl9OJ

42,900

19,350

39,000

16,980

60,000

120

420

780

975

1,020

3,390

2,460

l-
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ln2020, the amounts expended were; Materials t 1,80,000; Wages ( 1,70,000;

Carriage t 6,000; Cartage t 1,000; Sundry expenses T 3,000. The work was

certified for t 3,75,000 and 80% of this was paid as agreed.

ln2021, the amounts expended were : Materials T 2,20,000, Wages t 2,30,000,

Carriage t 23,000, Cartage t 2,000; Sundry expenses < 4,000. Three-fourths

(%) of the contract was certified as completed by 31.r December, 2021 and80"/o

of this received accordingly, The value of work uncertified was ascertained at

( 20,000.

\n2022, the amounts expended were : Materials t 1 ,26,000; Wages t 1 ,70,000;

Cartage < 6,000; Sundry expenses { 3,000, and on 30h June the whole contract

was completed.

Show how the Contract Account and also the Contractee's Account would

appear for each of these three years in the books of the contractor, assuming

that balance due to him was received on completion ol the contract.

g&B dod&ob dro. 15,00,000d0 r.od: Illgrio$dtr dlid:doo6d 7$9rio! t"Eodd

Erod ddQedotud deid de. 80d{po dndde &QriodOd drld: doddO- aads

dDd?,Jer)Rdrdd. sDgd 20% d{pc* dcQrt dpearrtoCiddddn eDerJfodas)

0sora)Jrerdnd.

2020dqrb.ldd louoQed os$rr19c; mdcDdtr drn. 1,80,000, ded doo

dJD. 1,70,000, nomdd ctuD. 6,000, Doa eJDad d,D. 1,000, qdd ,Dt$rllgJ

dra. 3,000, ddFedo&d re, dn. 3,75,000 d:$ edd de. 80dqP{?.doddod drlcran

EDd9ierJRd.

t
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202 1 do-rbg rirl BorroQAd $z$rrlqt ; EDilD rl$r dra. 2,20,000, droo - 2,30,000,

mroedd - dJa. 23,000, uoa sJDaIl - dja. 2,000, qdd $t^$rrl$r - dro. 4,000.

31 aioeJd 2021 dou$ rboilo$ 3/ddlderndd:* ddFedorerDnd drQ ld,odd $od
de. 80dd1drld$4 t&edoneDnd. ddBedoid fEi do. 20,000 d{drqd.

2o22dq$zbrrldr: rail!,rlet - d,a. 1 ,26,000, drao - do. 1,70,000, Doa !,trali -

do. 6,000, edd Dr$rdst - dro. 3,000, zlJad 30 dod: rbQd {B$rltooa$dd.

&eod dD&grl9 updaod d:ndr ddrrlgd rb,gri smdoJ:Q d:Q rb,?d Oeaddd

aodoJrabn dod:baobo.

8. The following details are extracted from the costing records ol Theju Oil Refinery

for the period ended 30 Sopt. 2022.

Purchase of 500 tonnes of copra { 8,80,000

Partlculars Crushing Plant Reflnery Plant Flnlshing

cost of labour 11,000 4,400 6,600

Electric power 2,640 1,584 1,056

Sundry materials 440 8,800

Repairs to machinery and plant 1,232 1,452 616

Steam 2,640 1,980 1,980

Factory expenses 5,808 2,904 968

Cost of casks 33,000

I
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300 tonnes of crude oil was produced.

250 tonnes of oil was produced by refining process.

248 tonnes of refined oil was finished for delivery.

Copra sack sold ( 1,760.

175 tonnes of copra residue sold { 48,400,

Loss in weight in crushing 25 tonnes.

45 tonnes by-product was obtained from refining process valued at t 29,700.

You are required to show the accounts in respect of each of the following stages

of manufacture for the purpose of arriving at the cost per tonne of each process

and also tho total cost per tonne of finished oil.

a) Copra crushing procoss

b) Refining process

c) Finishing process.

deuo dogo ordrdodoolD 500 rsdf dJaD,Joobrb4 do. 8,80,000 e00e6ad dJdJ erdd

d{dood 31/0912o22d uodrd, dddod drD&.godrdA ddodrerrRd.

sdddrb !,aone &qeBdoo d>Bo$

dgos d903, Eiox)
rra)rd d)Erao 11,000 4,4OO 6,600

ed+Er dg 2,640 1,584 1,0s6

qdd;DdbDrl$ 44O 8,800

odrodgedddeorlg &d& 1,232 1,452 616

tt# 2,640 1,980 1,980
a.,

rosDrd OabF 5,808 2,904 968

&eaooD $r^ir 33,000
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300r3df d?s*ddeeru6.,6reroRd.250tld6q)df odld:Qeddeadoddo-eruoaBennd.

248 [3o. a{d::qod:d dodaod aro6d.

doatp aleo dJac,Dr3ood d.,a. 1,760 sJo66qd.
gJ

1 75 [JFr dd* d?i,Dar drou,Jo e,Ded a!$4 dra, 48, 400 dd dDdsD Rd.

$aorn {,!, o3:oJ:O- sd draddd2s t,]il6rlet.

45 rJil. wd-dB;rlcd:* d:Qeddeo e,go$o$od ddo$eDnd qdd dod dJa. 29,700.

$Jocb EEo$ osoFo$ !rd.ilg$4Uo$00&. Bc {,!,oft dodd{s"od) tjd erucnddil

ddeld d{d:Q dpugo$ dodd{{,c Bfrl drle))d ?"8trdr^rjn${do(o}o.

o) E&on'49oir

r,l) E:Qeddea dgor)

tJ) $)eo$ 4g,o3r.

9. Sandhya owns a bus which runs between Bangalore and Mysore and back for 10

days in a month. The distance between Bangalore and Mysore is 140 kms. The

bus completes one round trip each day. The bus goes for another 10 days in the

month Bangalore to Ananthpur. The distance between Bangalore and Ananthpur

is 200 kms, The bus completes one round trip each day. For tho rost 4 days of

it8 oporation in a month, lt runs in the local city. The daily distance covered in the

localtrlp is 60 kms. Calculate the rals, the person should charge, if ho wants to

earn a profit ol 25oh on his takings. The other details are as follows :
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Cost of the bus t 6,00,000

Depreciation 15%P.A.

Salary of the driver ( 4,000 P.M.

Salary of the conductor { 3,000 P.M.

Accountant salary t 1,800 P.M.

lnsurance t 12,000 P.A.

Dleeel consumptlon 5 kms, per lltre costlng ( 40 per lltre

Token tax ? 2,500 P.A.

Lubricant oil t 10 for 50 kms.

Repairs and maintenance t 5,000 P.M.

Permit fee < 3,800 per 6 months

Normal capacity 50 passengers

The bus is generally occupied 8O/" of its capacity when it goes to Mysore and

90% incase of Ananthpur round trip. lt is normally full when it runs with in the

city.

Bo{n, oou dnOedd: dq Dddd&4 tJorl9o6 d>* drirnJad> ddrd 8orl9{dd:

ad ["a$tsd. * drldrl9 dd)od eodd 140 c.o)e. dncn ud:ddr lode odd{
&noJDgd. &)oad dd, 6dd$ dorl9nd: d:d; odouSd d&d t"m&Ed. dr

ddddt dabod uodd 200 e.ore. €l t"6DB ,e rode 6dd8d>noJDgd. qru9d

EDcrq odrl$ dorl9ood{ddd nomdd. erudolDen8sand. drld e,dtsdod)qoddo

60 E.a)e. drodddtr nodond.

I
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dr fqnd &ddrlgod {,903ou,{,obsdd$ {,.9 E.are. Eotasado doddeod dddd}

do d)& a oo: o. de. 2 5 dde eJEqD oddab.. dddO- i eoic3edr.

usr #aet, dja. 6,00,000

BddQ de. 15 do&Fd

zoEdd iou9 do. 4,000 8oi19ri

PDFddd douC do. 3,000 .3orl9d

eJrop6"ooi iou9 dn. 1,800 godqrl

a"&rd ad) drD. 12,000

aefef zJSd Oe.ri 5 E.tue.dod r.od> Oe.d zJeJ dn. 40

u3oedaf dori dJo. 2,500 a!&rd

mutsdo[tr o{,do. 10 d,e 50 E.tue.d

odeo d)dr ioddr6 dn. 5,000 .9orl9dr.l

dgl,tr &eE6 dra. 3,800 {,e 6 Eoilgri

Drrd:iDdJadd sad:Crr 50 4,oiDddd)

d).Jnooil draeR u$aDd de. 80dQ{,obrddo&sad. udodgd8o doen a;druarl

de. 90 dQ {, aintddo$ED d. drld d dttrto$O- de. 1 00dd1 4, olDsddo&uD d.

10. From the following details, you are required to calculate the cost of Job No.222

and find out the price to give a profit ot 25"/" on selling price.

Materials cost at < 15,000

Direct wages :

a) Dept. P - 400 labour hours @ t 10/hour

b) Dept. Q - 180 labour hours @ ? 6/hour

c) Dept. R - 100 labour hours @ t S/hour

-12-
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Overhead expenses for three departments w6re estimated as follows :

Variable overheads :

Dept. P - t 25,000 for|000 labour hours

Dept. Q - t 10,000 for 3000 labour hours

Dept. R - < 10,000 for 1000 labour hours

Fixed overheads are estimated at t 50,000 for 5000 normal working hours.

* ddnd ado$rl9od ?,34 dei no. 222d ddpabn dod)ba o0)o $$ dD@ti dero$ O-

25o/o el;$ Oed)dod zca dEid aleSodld:n do&&Bobo.

xad>Dd$ drlrd". 15,000

ded doodst :

a) e?;ori P - 400 doO rlot3rl9: {,.9 rlo8rl do. 10

b) eqDrf Q - 180 dnO dop,3i'lst {,e dodri do. 6

c) aqrrl R - 100 doO dotirl$: {,e do$ri do. 5

d:odc aqn drlg d eno&ierr d d: e eJ-.t!. d$do d 0,9 d :

a:dor$d *:eo: daf;19: :

DqDrl P - 1000 doo rloddqri drr. 25,000

a?prl Q - 3000 doo rlotirlgrl dJa. 10,000

arpd R - 1000 doo rlotJrlgd dra. 10,000

(,odrDiJ:6d d)eo:daf do. 50,000 xadnd, de;id iiodrlgri do. 5,000.
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From the lollowing particulars related to Job No. 101 ascertain the total cost

and estimated selling price.

Direct material t 17,600

Direct labour < 8,000

Works overheads are recovered on the basis of 50% of prime cost and

administrative overhead 1O/" ol works cost. A profit ol 10/" on total cost to

be added.

Madhu company manufactures a product 5000 kgs, raw materials at

t 12 per kg were supplied to process-1 . Labour cost amounted to t 6,000 and

production overhead incurred was t 3,000. The normal loss was estimated

at 5olo and was sold at { 3 per kg. Actual production in the process was

1860 kgs.

Prepare:

Process-1 account and ascertain the value of abnormal loss.

aa dsn noal6 101 d f$nd dD&ad9od ?.t$.rdq.drQ ero6r83) dDoJtJ ddo$dl

dodJEoaobo.

ded dzrgdoaQrrl$ - dra. 17,600

ded $ab d{- d,a. 8,000

rooJ:rd dceeioal,rdd,:n $Aad dzsod de. 50dod CoieDnd 6"rir0 udgd

d:ee3g^f;i9 ooi:r dzSod de. 1Odod Coierrnd. r"r$.jdatd de. 10d4p.r errqJilDR

*(oieDnd.

63524

11. a)

b)

a)
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b) d)c) dod&ol:: erudiddl dojDoBrdd. dted dgo$-1dO_5,000 d.d. dzrrzj

dn:z'lgd1r.od; d.d.ii dro. 12 dod r.dRierond. aoturd dz*d dJa. 6,0006an&o,

en:uadoa d:ee3;^ldra. 3,000 erncbgd. xadnd, d{d Ee.5dd,geoaaa,: drD8q

eddl r"od; d.d.ri 3dod dDoJ[3 dDdeDnd. {a eruoddol> 4,q,dJobO_

1,860 d. d. d9(Xd:d d. wo dd {, I osr - 1 d sodo$dtr doJnorro d)$ uxad>d,

d{d #orddtr dod)&ao0)o.


